60 = 60 }
-] -]
50 50
40 40
30 30
20 20
10 10

0 0o
4 6 8 1012 14 16 18 20 22 4 6 8 1012 14 16 18 20 22

60 60 —
50 :I 50 C.2
40 40
30 30
20 20
10 10

0
4 6 8 101f 14 16 18 20 22

0]
4 6 8 1012 14 16 18 20 22

60 ' 60 s
50 2 E 50
40 40
30 30
20 20
10 10
0

0
4 6 8 1012 14 16 18 20 22 # 16 18 20 22

0
4 6 8 1012 14 16 18 20 22

60
]

50

40

30

20

10

0 0
4 6 8 1012 14 16 18 20 22 4 6 8 1012 14 16 18 20 22

0 i,
4 6 8 1012 14 16 18 20 22

0 t
4 6 8 1012 14 16 18 20 22

0
4 6 8 1012 14 16 18 20 22

60

N e
40

30

20

10

0 0
4 6 8 1012 14 16 18 20 22 4 6 8 1012 14 16 18 20 22

0
4 6 8 1012 14 16 18 20 22

60

50

0
4 6 8 1012 14 16 18 20 22

60

50

40

30

20

10

0
4 6 8 1012 14 16 18 20 22

-]

60 O —
): |

50 50

40 40

30 30

o]
4 6 8 1012 14 16 18 20 22

60

50

40

30

20

10

50

40

30

20

10

0
4 6 8 1012 14 16 18 20 22

50 50

60

60

40 40
30 30

20 20

10 10

0
4 6 8 1012 14 16 18 20 22

0
4 6 8 1012 14 16 18 20 22

0
4 6 8 1012 1416 18 20 22

0
4 6 8 1012 14 16 18 20 22

0
4 6 8 1012 14 16 18 20 22

0
4 6 8 1012 14 16 18 20 22

0
4 6 8 1012 14 16 18 20 22

)

50

60

40

30

20

10

0
4 6 8 1012 14 16 18 20 22

40

30

20

10

0
4 6 8 1012 14 16 18 20 22

July 2011

Ultraviolet A (w/m2)
vs Winter Clock Time (hr)

Vaulx-en-Velin

Lat: 45.78 N

Long: 4.93 E

Alt: 170 m

Local Time: (GMT+1)

Processed by D. Dumortier, LASH-ENTPE, September 1, 2011



